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Questions 1 o 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them Is the correét answer.
Make your choice (1, 2, 3 or4). Shade the oval (1, 2, 3 or 4} on the Optical Answer
Sheet, |
(20 marks)

What s the smallest whole number that bacomes 3500 when it is rounded off
to the nearest ten?

(1) 3451
(2) 3495
(3) 3490
(4) 3501

2 How many ninths are there in 4-% ?

1y 11
@) 14
(3) 33
@) 42

A square and an equilateral triangle have the sare perimeter.
If the side of the square is 8 ¢m, find the length of each side of the equilatersl
tiiangle. :

S cm ;

(1) 3em
(2) 9cm
(3) 12¢em
(4) 36cm

{(Go on to the next page)




4

Arectangular tank measuririg 30 om by 20 om by 20 om i £ fu,
Find the volume of the water fteeded to fill the tank completely.

(1) 2400 om?®

{2) 4800cm®

(3) 7200 cm®

(4) 12000 om® -

Mei Yan bought 2 pencils and 2 notebooks from the school bookshap),
The pencils cost $1.80, She gave the shopkeeper $10 and recoived $2.70
charige How much did Mei Yan pay for each notebook?

) $1.85

(2) $275

() $3.70

- (4) $7.30

In the figure below, not drawn to scale, £x s twice as targe as <y,
Find 2.

(1) 108°
(2 126°
(3) 168°

(@) 252°

{Go on to the next page)



7 Simijﬁfy Ox+7—-5x*+x-3+2

(1) x+2
(2) 3x+6
(3) 5x+2
{4) 5x+86

8  In the figure, not drawn to scale, ABCD is a square.
Given that ZACX = 20°, find £BXC.

A X 8

20

(1) 25°
(2 45°
(3) 85
@) 8

9 Which of the following fetters has both parallel and perpendicular lines?

1 A
2 H
G T
@ L

(Go on to the next page)



16 Which of the following is nat a et of a subdidy
(1) @)
@ 4
[ ]
T Find the sum of 8 hundreds and 300 hungreds and 50 tens and 60 tenths.
(1) 6353
@ ®1
(3) 350.53
(4). Bos

(Go oni to the next page)



12 Whatis the area of the figure below?

10 em

o

7 cm \dcm

15 em

(1) 87.5 em?
{2} 92.5 cm?
(3) 101.5 em?
4 1125 an®

13  Nathan took 26 seconds to type 15 words.
How many minutes will he take to type 750 words?
Carrect your answer to the nearest minute.

() 2
@ 2
3) 30
(4 50

(Go on to the next page)



14 The pie chart below shows the type of ice cream ordered by a group of 80

people. What percentage of the people ordered chocolate flavoured ice

cream?
Banana
14 Vanilla
NH \
Chocolate
(1) 25%
(2) 2\%
(3) 45%
4 80%

16 The ratio of Mr Lin's age to his daughtet’s age is 7 : 2.
In 3 year's tirne, their tolal age will be B9 yeais.
How old wift the daughter ba in § years'fime?

M) 7
@ 12
(3) 14
@ 19

End of Booklet A
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Questions 16 to 25 carry 1 mark each. Wiite your aﬁswers in the spaces provided,
For guestions which require units, dgive your answers in the unis stated.  ~
(10 marks)

16 Wiite 100 kg 10 g in grams.

Ans: d

17 Findthe valie of 35 + £

Leave your answer as an improper fraction.

18 A container is filled with 1.5 t of water. ‘
What is the maximum number of 70-mi cups this amount can fill?

Ans:

{Go on to the next page)



197 24 +3Xx24+12-24 x4=24x

- Filt in the correct answer in the box.

Ans:

20 The figure below, not
F’ind'itsperimeter
- e =

drawn to scale, shows & three~quarter circle.

Ans: cm

(Go on to the next page)



21 Study the following raultiptication strings.

4 = 4
4x4 = 18
4x4x4 = 64

4x4dxdx4 = 256

What is the digit in the ones place of a muitiplication string of 12 fours?

Ans:

22 = Express 50 minutes as a ratio of 2 hour 5 minutes.

Ans;

{(Go on to the next page)



23 Duringa Chiistmas sale, a shop gave a storewide discount of 15%. _
‘ Mrs Chan, being a reguiar customer, was given a further 5% discount off the
discounted. price. '
What is the total percentage discount Mrs Char enjoyed?

Ans:_ %

24 Theline graph below shows how & group of pupfis go fo school.
_ Wﬁatﬁucﬁcn of the puplls go to schoot by gar? . _—

1 | — -
b4 . B AR ~— -
50 4 . .
56 A
50 pd
50 ¥«
40
m.
o
19
L4 : .
wafk bus fat otheis
AnS:

{Goon to the next page)
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25  The total volume of the cubes below is 56 cnﬁ"’. Find the area of the shaded
faces.

Ans:___ em®

(Go on to the next page)




Questions 26 fo 30 camry 2 marks each. Show your working clearly in the space
below &ach question and write your answers in the $paces provided. For questions

which require unilts, give yourt answers-in the ujiits stated.

(10 marks)

28

27

Devi ate “;* of a cake and gave half of the rémainder to her neighbour,
Mr Ravi, - )

Mt Ravi cut the piece of cake inte 3 equal pieces for his children.

What fraction of the cake did ‘each child receive? .

Ans;

Mrs Lee gave $720 to her daughters, Jane, Kaylene and Lydia in the ratio
21 3: ely.

What percentage of Lydia's Mmoney must she give away to her sisters so that
all the 3 girls have an equal amount of money?

Ans:_ %

{Go on to the next page)



28 A path Is constiusted around a circular garden. The path has a width of 3 m,
Find the area of the path. (Take = = «2.}:3)

Ans: m

29  MrTan packed boxes of cereals into a hig box.
Each careal box measured 7 cm by 4 om by 9 em while the big box measured

40 cm by 60 cm by 40 cm, ,
What is the greatest number of cereat boxes Mr Tan could pack into the big

box?

Ans:

{Go on fo the next page)




30

Awheel with a radiis of 7 ¢m

opposite wall, _

The distance between the two walls was 4.54 m.

How many revolutions did it make befare coming to a stap?
22

(Take n = ‘-‘f-)

was rofled from one 'wall in a room to the

" End of Paper T
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Questions 1 to 5§ cajry 2 marks each. Show your workings clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. : {10 marks)

1 The table below shows the parking charges at a shopping maill.

First hour - $2,00:

7:30 a.m. o 5.00 p.m. Subsequient % hour or part thereof - $1.50

After 5.00 p.m. $3.00 per eniry

How much would Davina have to pay if she parked there from 245 p.m. to-
7.30 pan.?

Ans:$_
2 A motorist left Town A for Town B at 1.40 pm.

He travelied ;1" of his journey in 20 minutes and the temaining 135 kmat an
average speed of 76 km/h. At what time will the motorist reach Town B?

Ans:

- (Go on to the next page)




The figure below is made Up of 2 identical rectangles overiapping each other.
Find the area of the figure,

Ans: a2

The distance between Town ¥ and Town Q is 270 km,

Melvin fakes 4 hours to travel from Town Pfo Town Q.

How much faster must he travel so that he takes only 3 hiours for his retum
Journey from Town G to Town p? _ :

Ans: . km/h

{Go on to the next page)
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The figure befow is not drawn to scale.
ABCD is 2 thombus. GDF, BCG and EFG are
Find Zy.

 56°

straight lines.

Ans: 2

(Go on to the next page)




"Questions 6 to 18, show your working clearly and write your ahswers in the spaces

provided. The number of marks available is shown in brackets | ] atthe end of each
question or part Question. _ B (50 marks)

6 1

There were 135 more hangers in wardiobe X than in wardrobe Y,

Atter 20 hangers weére transferred fror veardrobe Y to wardrobe X, there were
6 fimes as many hangers in watdrobe X than in wardrobe Y,

How many hangers were there in wardrobe X at first?

Ans: [3]

The figure shows part of a fence. Ris made of reclangles and semilcircles of
different skzes. _
Find the perimeier of the fence. Leave your answer in term of .

1.3 m

Ans: (3]

(Go on to the next page)



Aidah biad some dolfar notes inher purse,
% of the notes were § 50 notes and %of the remaining notes are $10 notes.
She had 7 $5 notes and 3 $2 nofes.

(@) What is the total value of the $10 notes?
{9 How much money did Aidah have altagether?

Ans: (a) ___ [1}
{b) [3]

(Go on to the next page)




9 Botile A and bottle B both contain some juice. .

1.3 L of juice was poured into bottie A, the volure of juice in A will be 1.6
times that of the volume of the juice in botlle B,
1480 mf of julce was poured info boffle B8, the volume of juice in bottie B will he
1.8 imes that of the volume of the juice in bottle A,

@ Whatis the volume of juice in bottis A7 |
(b) What is the difference in the valume of juice in both boltles?

Ans:(a) 13]

(b) (2]

(Go on ta the next page)
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10 The graph below shows the number of apples sold in Stall A, Stalt B and
Stall C, Study the graph below carefully.

400
350
300 |
250
200
150
100
50

™ " Sapublm—

Stali B . - Stallc -

(a) What Is the average number of apples sold in Stali A, Stali B arid Stall C?

(b) How many percent more apples did Stall A sall than Stall B?

{c) The number of apples sold in Stall D was % of the total number of apples sold

in Stali A, Stall B and Stall G. Draw the bar representing the number of apples
sold in Stall D in the bar graph above. {1]

Ans: (a) (1]

(b) (21

(Go on to the next page)




11 Inthe figure below, nat drawn o scale, ABGG ks thombiss,
BGF, CDF and EDG are straight lines, Find

(@ 2x
) Ly

Ans:i(g) 2]

®

12 The average score of 5 quizzes should be 48, When one of the scores was
recorded wrorigly as 77, the new average became 52.
Whatwas the actual score of the quiz?

Ans: 3]

- (Go on to the next page)
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10

- -

In a squash compefition, each player played onca with everyone else.
Gordon played with 4 times as many boys as girls.

Jayanthi played with 6 times as many. boys as girls.

How many more boys than girls were there?

Ans: , : [5]

(Go on to the next page)
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14 During the Great Smgapore Sale, Ravi, Jofian, Meng and Emima shared the
cost of a present.
Ravi pald 50% of the total amount paid by the ofher 3 friends.
Meng paid 60% of the fotal amount paid by Johan and Emma.

Johan paid = 2 of what Emma pald.
If Ravi paid $24 more than Emma, how much did the bresent cosi?

Ans: - {4]

- (Go on to the next page)
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120k stickers are shared among 4 boys and 8-girls. Each boy received 4 -
stickers.
(&) How many stickers does eagch girl receive?

Express your aiswer in ferms of k.

(b) If K = 2, how many stickers did each gitl receive?

Ans:(a). . {2}
(P 1

The figure below-is drawn to scale and the line shown form part of a
frapezium. ,

Given that BC =9 cm, AB =6 cm, AD = 3 o and #ABC = 46°,
complste thefigure fo form a trapezium.

(a) Measure ZADC |
{b) Measure the length GC

C
Ans: (a) [2

(b) 21

(Go on to the next page)
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Alan, Beng Seng and Chandrar would take 3 hours, 4 hours and 5 hours
respectively to paliita room i they worked alone.

At 930 am, Alan and Beng Seng started to paint the room together.

At 11 am, Alan went for a break, Chandran then took over and worked
together with Beng Seng to camplete the rest of the painting.

How much time did Berng Seng and Chandran take to complete painting the
rest of the room? '

Ans: _ [41

- (Go on to the next page)
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14

The figure shows a solid that is made up of 8 identicalcubes. _
The solid. is painted completely and the area of the painted faces is 288 cm®.

(@)  Whatis the volume of one cube? -
{b) How many more cubes have fo be added fo the sofid to form a cube
with a volume of 728 cm® - '

EHTEN

NEE N

AR

Ans: (a) . [31

® 2]

End of Paper
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SCHOOL : MGS

SUBJECT : PRIMARY 6 MATHEMATICS
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11Q21°Q3 1041 Q5 ) Q6

Q10 [ 011 [ Q12| 013[Q14] Q15

4 3 3 2 3

4 4 1 2 3 4

16)100010g

(7)23/7+2/5=23/7x5/2 °

=115/14
8)21

9)5+3+1=9
9-4=5

0)% x 22/7 14 = 33
33+ 7+ 7 = 47cm

1)6
2)50 : 125

10: 25
2:5

3)100 — 15 = 85
5/100 x 85 = 4.25
15 + 4.25 = 19.25%

)20 + 90 + 120 + 50
= 280 L
90/280 = 9/28

25)7 cubes
56+-7=8
V8 =277

2x2=4
4 x5 = 20cm2

26)14/16=-2 = 14/16xV2=7/16
7/16x1/3 =7/48

27)25%

28)22/7 x7 x 7 =154
22/7 x 10 x 10 = 31427
3142/7 — 154 = 1602/7m2

29)40+4 = 10
607 ~8
40-9~4
10 x 8 x 4 = 320

30)22/7 x 14 = 44
454 — 14 = 440
440+44 = 10

Page1to4 page 1


Answer Key


‘aper 2

-)2.45 to 3.45>42
3.45to 5p.m>3 x $5 = 4.50
After 5p.m->$3
$2% $3 + $4.50 = $9.50

1)Time for remainding->135/75 = 14/5
20min = 1/3h
(lass+ 1/3)h = 22/1sh.
227/5sh = 2h 8 min
1.4>3.48p.m.

)V/2x5x8=20
20x 2 =40
16 x8 =128
128 -40 =88
(88 x 2)+40 =216
The area is 216cma

)270+4 = 67.5

270 =3 =90

90—-67.5 =225

He must travel 22.5km/h more

)<BAC = 180° —56° = 124°
£DCG = 180° ~124° =5g°
£DFG = 180° ~56° —55° = 69°
£y =180° —69° = 111°
Zyis111°

15u>135 + 20 + 20 = 175
1u>175/5 =35
35+ 20 + 135 =190

-

Va2x nX6=3x
3n+ 134+1348+2=37n+12.6m

a)7 +3 =10 b)3units>30
1 unit>10 2 parts>30
2 units>20 1 part>15°
20 x 10 = 200 3 part>45
'e had $200 worth of $10 notes 45 x 50 = 2250
17x5=35
3x2=6

2250 + 200 + 35 + 6 = 2491
Aidah had $2491 altogether.



9)1.6 =8/5
1.8 =145 = 9/5.
A:B.
8:5 x5
-1.3 +0.48 .
5:9

72u~11.7 = 25u + 2.4
72u—-25u =24+ 11.7
47u = 14.1
1lu>0.3
a)o.3x8=24
24-13=1.1L
b)B>0.3x5 = 1.5
15-11=0.4L

10)a)125 + 200 + 350 = 675
6753 = 225
The average is 225
b)350 - 200 = 150
150/200 x 100 = 759%,

11)a)/DCG = 90° - ¢8° = 28°

- £CGD = 180° —110° —28° = 47°
ZAGC = 360° — (68x2)/2 = 112°
£X =360° —-112° —42° = 20¢°
£Xis 206°

b)£GBC=112"° +2 =5g°
£y =180° —56° —96° = 28°
£y is 28°

12)48x 5 = 240
52x5 =260
260 - 240 = 20
77 -20=57"

13)6 units — 5 units = 1 unit
1 unit>1
25 units->25
6 units>6
25-6 =19
Ihere were 19 more boys than girls

Page 3



14)2 units>24
1 unit>12
12+24 =36
36 units>432
The present cost $432

15)ay 4 x4 =16
120k —-16/8 = 15k—2
b)(15x2)~-2 = 28

16)a)113°
b)4.6cm -

L7)in one hour >A->1/3 , B> 14 s C>1/5

A+B21/3 +Va=7/12
12he>7/12x3/2 =7/8
1-7/8=1/8

B+C> Y4 +1/5=9/20
1/83+-9/20 = 5/18h

\8)a)5+3+4+3+5+5+4+3=32

288=-32=9
J9 =3
3x3x3=27

‘he volume of one cube is 27cm2
b)3x3x3 =27
27-8=19
9 more cubes are needed

Page 4
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